DINO CLIMBING FRAME creative
Installation Instructions Dlay

] ﬁrjjw/
2o

"\\%\\&'
/

)
A\

.

pg 10of12

REF: CF103 - DINO CLIMBING FRAME



Parts required

QTY x 2

(120mm x 90mm) 3600mm

QTY x 1

(90mm x 90mm) 300mm

QTY x 1

(90mm x 90mm) 3000mm

QTY x 1

(90mm x 90mm) 3000mm

QTY x 1

(120mm x 90mm) 3000mm

DF6

DF7

DF8

QTY x 1

(90mm x 90mm) 3000mm
Including swing hanger

QTY x 1

(90mm x 90mm) 3000mm
Including 2 swing hangers

QTY x 4

(90mm x 90mm) 2400mm

QTY x 2

(90mm x 90mm) 2400mm

QTY x 2

(90mm x 90mm) 600mm

pg 2of12

REF: CF103 - DINO CLIMBING FRAME

creative

play



Parts required
ﬁ SR Y S

X3 (PRE-ASSEMBLED TYRE ROPE)

o

e x1 (1015 STANDARD BAR) %

X 2 (Chain x 770mm \

Inc. thread bar /nylocs)

— ]

T

A e,
I e

X (Chain x 1598mm) ~ e

x1 ( 1685mm ROPE)

x1 ( LEFT) x1 ( LEFT)
x1 ( RIGHT) x1 ( RIGHT)

N\

)

x1 ( LEFT) x1 ( LEFT)
x1 ( RIGHT) x1 ( RIGHT)
pg 3of 12 REF: CF103 - DINO CLIMBING FRAME creative

play



Parts required

14x (M12 x 200 square hex bolt)
4x (M12 x 230 square hex bolt)

6x (M12 x 120 square hex bolt)

"32x (FM80 ‘BRASS SCREW’) 2X (EYEBOLT x 130mm)
( r’“@
[l
{ | 8x (QUICKLINK ) @ 34x (end caps) @ 34x (M12 NYLOC)
| i
7

@ X 4(BLUE end caps)
SMALLER CAPS

TOOLS required

pg4of12 REF: CF103 - DINO CLIMBING FRAME cg'at:ve



Foundation details

=== ====MINIMUM SPACE
= SURFACING AREA
) 5500 .
I A
N
Ol
- N
Ol
1550,y
: T
» s
NI\ S
=
Gl '-
\
y

pg 5 of 12 REF: CF103 - DINO CLIMBING FRAME P' ay



Surfacing details

250 _\

600

- 880 - 1775 _ 1120
» O
o
™
fa
400,
" O O 3
<
NOTES:
SMALL CIRCLES SHOWN ABOVE
ARE FOR TYRE CHAIN
@&
& B ‘_’/—_ﬁ\‘\—‘:
i i |
~lb || //MA oH
” > @ @ f @ o
o . I
150 _‘ 0 -

pg 6 of 12

REF: CF103 - DINO CLIMBING FRAME

creative

play



Assembly instructions

Install the timbers (DF1,DF2,DF3,DF4,DF5,DF10)

m K/
| DF2 g : DF1

Attach the Timber (DF6) and DINO HEAD to the Timbers
(DF1,DF3,DF5)

Using M12 CUP SQUARE BOLTS /NYLOCS / END CAPS

O

pg7of12 REF: CF103 - DINO CLIMBING FRAME creative

play



Assembly instructions

3 Attach the Timber (DF7) and DINO HEAD to the Timbers
(DF1,DF2,DF4)

Using M12 CUP SQUARE BOLTS / NYLOCS /END CAPS

Attach the DINO BACK PART to the Timbers (DF6,DF7)

Using FM80 BRASS SCREWS

pg 8of 12 REF: CF103 - DINO CLIMBING FRAME creative

play



Assembly instructions
H Attach the Timbers (DF9) to the Timbers (DF1)

Using M12 CUP SQUARE BOLTS /NYLOCS / END CAPS

n Attach the NET to the Timbers (DF1,DF9)

Using M12 CUP SQUARE BOLTS / NYLOCS /END CAPS

pg 9 of 12 REF: CF103 - DINO CLIMBING FRAME creative

play



Assembly instructions
Attach the ROPE and CHAIN to the Timbers (DF3,DF5)

Using / NYLOCS / END CAPS

n Attach the TYRES to the Timbers (DF6,DF7)

Use LOCK TIGHT to ensure the quick link remains CLOSED

pg 10 of 12 REF: CF103 - DINO CLIMBING FRAME creative

play



Assembly instructions
n Attach the BARS to the Timbers (DEDF1,DF2)

Using BRASS ‘SCREWS’

10 Attach the rest of PLAYEC parts to the Timbers
(DF2,DF3,DF4,DF5,DF10)

Using BRASS ‘SCREWS’

pg 11 0f 12 REF: CF103 - DINO CLIMBING FRAME creative

play



Additional dimensions

4398

A
N
o
ap]
o
©
N
N
- 2424 -
le 2220 .
2 i a H -
T ;7
|
3
Al
f [ /] \
U i |
H
i
-
creative

pg 12 of 12 REF: CF103 - DINO CLIMBING FRAME PICLY



